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AP Q71
MIxA 2T Nn"avwn

P2 DD ROR ARP FIRIAN T2 PINH NIRTT 2192 IRDY "D N7 772 2 awnna
No2 PWDY VARP DI 52 2ONRD N2 A3 IDWRN NM PaAwT DT ORTY X7 9oy "D
IR 90D AN K97 D7 RDR 011077 P52 '0INT WA PRWR PIT D NY2 A1 D
T2 N2 MY RNWTT MR 21PN MWD 2" RN RYT 21PN WIT MRP Y1 IR
DR RS YOT T2 N2 19T IR JWWH 2PN D527 ARP NIIRY KRR INI2AN
'"my avasm YRR
1) o"awn
a) Partl
i) The 2xn of the 1own was 100 mnx by 50 mink or 5,000 square ninak
ii) oonon were ywn that the 1owna H¥n was "o>»nRo 12 11717 R0 opn”

iii) since in a 71> there are 30 nxo which is 15 o»nko — the area that’s 12 ¥171% »X1
715 2 is 15 times 5,000 square mnx or 75,000 square nink

b) part 2 —o"awA is 7o that
DONOM MWIWW AW °97 ROR MR IRIAN 1D MIT2 MR 2PN IR
2) X"wann
a) xwp to the 79037 of o"aw"

i) We’ve established that the nawn on the area of a 12 n°2 is based on the i
1Pwnn being 0»nRo 12 Y117 MIRIT 21PN

b) y1n

i) The area in which a 715 of 2°w=r can be planted varies from 77w to 77w — but
the area in which a =15 of 18van grows is the same in all m7w — and there
might be a myv that a 715 n°2 can’t mean XN M 715 "R17 D3PR because
this o1pn varies from one 77w to another 77w — and that a 115 n°2 must instead
mean the opn in which a 71> of X120 grows that’s the same in every 17w

i) To avoid this myv — o"awn explains that o°>nxo n°2 means for all m7w a
standard 5,000 square ninx that in the particular case of the jowni 2% was a
D°NRD N°2 M1 MRI7 2P — and that a 72 2 for all n17w means 15 times this
standardized amount
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1) o"awn

a) o"awn calculates the length (the same as the width) of a square that contains
75,000 square mnx

b) %"waan in pwirp is an the pawn of o"awn and says that 22w means that the
length is 273 mnx and 5 a°now plus a y7wn less than ¥ nov

2) X"wann

a) A more accurate calculation is 273 nmn& and 5 o ndpv plus an "7vp yaxR" that’s an
extremely small 23w

b) Here is a calculation

i) the length as well as the width of the square is the square root of 75,000
square MR which is 273 nnx plus 0.86128 nwax

ii) since there are 6 Prdv in an nx — 0.86128 mnx are 5 o°nov plus 0.1677668
now — 0.1677668 rov is slightly more than 1/6™ (.16666667) of a nov
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1) mwnin poy

o3 PP oownn (M3 1°2) QMY MmN YT 1°a% 10 10 T wTpnn
TAY TTTRI PR 2°T00 M2 PYY0 IR 2100 2Py OYpl aw 1

2) 10"awn on the meaning of any 17701 PR

71°91 JAXY 9192 3TV S2OWNT AWID2 2I1EPI T NAWT D7 Y PITAI PR
"MW ROR PIDI PR — YT T N RDT

3) X as explained by a"awA
a) Xwp

i) w1 ooaRa wiph — if the reason that mny 1711 X is because the woTpn
considers the o°vp1 and o°v>0 to be separate m7w and wants to be able to be
770 them separately — then why aren’t they considered separate ik 17w that
can be 1791 separately w152 2P Nawn *o% and not jMwa



i) And the reason that they don’t count as separate 71nX 772 can’t be because
they’re less than o> ww i ¥71 (the same as a 7o) since a Xn>>1a teaches that
if a person is w>pn even a apan >xn the 79 is 7wana 2Xpn Nawn o2

4) o"awn

a)

b)

TIRY

i) Maybe the mwn in P27y means any 17721 PR in the sense that 575 *w7p &5 —
and the xna relies on the &n>»72 of 2p9n to prove that *w7p

72wn of a"awn

i) A mwnin a0 DR 1910 says "N M2 190K 1912 IR WTRa ATwn IR wrpan” —and
from this it’s a M w» that he’s also 2°YH01 DYP1 W TP

5) nmooin — another & for o"awn as explained by X"waan

a)

b)

7P — the 7awn here deals with a person who’s w7pn a large 17w that contains
0°yH01 o°vp1 without being X772 wHon that he’s also 2°v701 0°¥p1 wrIpn — the xn»2
on 2p7n deals with a person who’s X*7772 w19n that he’s w>7pn a 2p7n N2

Now it can’t be that 7y 17721 7°X in the mawn here means that o°vo01 o°vp1 are X>
595 >w1p — because then the X713 should have answered that the xn>122 on 270
isn’t relevant to prove that 0°¥%01 o°vp1 are *w1p — since the xn»1a deals with a n»a
277N that a person was &>772 w>7pn — while the mawn here deals with o°y%01 ovpa
that possibly aren’t *w7p at all (even j1w2) because the w>pn referred only to
the 77w and not X>772 to the o°¥%01 2°vp1 in the 77w

but for o"aw" who says it’s a mu ws that *w7p at least na1wa it follows that the
Xn>12 is relevant to decide that »>75 of 2°v»01 @°wp1 is also awana 2P Nawn o7
because there’s no X120 to be p7rn between w17°92 2pn wo TP and wow 37w WP
0°vo01 o°vpa 12 for the purpose of determining whether > is 2pn Pnawn *o%
pri7abon o] gh Py RERRI74m)
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o' my

1) Twni of the X

a)

b)

717°n of Xnm 12 Xapw 20 to the Xowp of the X3 from the Xn»1a — The 7awn deals
with o'wp1 that are o°» o°89» that aren’t 7977 °12 and don’t count as "var n»2"

Note that the y17°n doesn’t mention 2°¥%0

2) Twnn of the & ma

a)

ROWP — 11 "1 M5 120K 377 °k — namely now that you’ve said the miwn refers to
o°vp1 that are oon ooX9n — the 17 that 72y 17711 PR should apply even if they’re
aRalish



b) 1N — "po RYIRT RITW 29990 P KRYIRT 2IRA 2Rl — the o°vao of this y1n
aren’t relevant but note that the y17°n deals with 2°v%0o as well as o°vpa

3) mooin
a) Nwp

i) The w5 of *>77°X is axn because the x>wp of “» minoa ¥ ox would apply to
o°v>0 that aren’t 7y>1% XA even if Xan 72 X3P 27 hadn’t said that the o°vp2
in the mawn are oon Q°Xon

4) R"wn
a) Nwp

i) Maybe the X3 doesn’t ask its x°wp for o°v70 because the x7na realized from
the start that 1°y>0 are XyIR7 W

b) y1n

i) Can’t be because then &»nr7 92 X231 27 in his y17°n wouldn’t have had to say
that o°v%0 are XyIRT "7V

A Q7
y70 "n ox n"TN

P27 N2 KRR D173 RO RD IER TR P90 Do "2 pho 7 an 11''7a [2 Ty ap 0T
YOO 2''AT 1INI20 WD 2" AW WP R RRYD TR N wn X9 5oy "o
T'"™Y Y2 290107 AN 2WROR T

LA Q7
Xnn X8 2"T 0"awn 'K 770 7ana 2TRT X0

RO RWIM2 SIn9mD TPOUIOR 1997 "2 R RN 7''72 2"awnsa [R Ty TR 07
NI RITT N2 JIDIRT ONT IR N7 ORI BRT ROVIT PP WA R'OY "0 ORI 9'RT
RTIPA 79 N2 R MDY 2R 'R N2 JVIRT RSO0 NINP RIT TIVIONR KD Al
TOLRIRT 2P NINR T AN T RDT BN 2R 'R N2 JO0INRT P90 2 N Rha w''on
ND02 939957 11299 TNT K92 RIWOH RITT N2 JOVIRT N7 N ORI KR AN

:9''PY 231 32K No2

1) mawnat 5p a7 ('R mwn)
a) R — I RITW 22 NN 791 RIW 9D NPD Dana 771 77 9911 2R T9Y M0 N2
b) X9°0 — W7 IROY Y217 7°NT IR ARD? Y211 NP 120K TN° 177 07 17 MR OR)

2) mwn at :7p 7 (2 7awn) — PR MWL 011N 011 127 N3 17 07 17 222 7T

3) XA at .p 7 — 03172 ¥ 1an 1YY PRI

4) xna here



X7 XAND 712 N2 179 ROV

ynw X0 — from the xw> of ') mwn it’s vawn that w1 &% only for ama 777 — so that
3737 XnNo2

c) xwp —from the ko0 of 'k mwn at :7p 77 it’s ynwn that w237 only if a0 37 707 37 —
S0 that w737 X2 Xnno2
d) Xipon — n ynwn? R2VH RiIn RN
5) o"awn
a) Nwp
i) Either the xw> of '} miwn isn’t p>y7 because the 1°7 is w»an X% even for xano —
or the Xo°0 of 'X 73wn isn’t P17 because the 17 is w2 even for Xnno
b) nn7pP to the yroon of o"awn
i) Note that in 'a mawn that deals with two contradictory mnw5 the mawn is p1n
and deals only with where the 25w actually said both %ana 77 and 37 2on 17
an° — the 7awn can’t deal with where the 1017 said X002 9212 IR 79Y 112 and
then added either 20> 171 7017 377 or 2an2 7 because the addition obviously
makes the case not involve xnno at all
c) vrnof 0"awn — TvR oMo
i) '% mwn that deals with where the 251 used only one 17w needs to deal with
where the 15w actually said an° 371 700 37 or %ana 777 (even though we’ve
shown that qwo1 nnn one of these maw? isn’t P17 in this 7awn) to be
consistent with "2 mawn and to teach that
(1) although 'a mawn doesn’t follow X% 11 (22n2 771 or A0 373 7o 37) if Pwo
TR s Mo the R 0
(2) we do follow x1w°% 71 where there is no 771°no with PR WS
6) X"wann
a) Nwp to 0"awn
i) From 'a mwn that follows anx nw® even where PwRa w» is a 71°no to Pw°
IR it’s a M ws that we follow Xiw? 71 where there’s no 77°no from another
&)
b) Two other o1 n that explain that ' mawn needs to be consistent with 'a mawn and

therefore can’t deal xnnoa

i) First y77°n — the 7%7n of the nvawn is 7 AR 11 XS — not only as in '} mawn do we
follow one 1w (either ana 7 or A0 177 7017 17) if there’s no 77°no from a
prior nw? we also as in 2 mawn follow one N despite a 77°no from a prior
N

i) Second y17°n — 'R mwn teaches that although 1127 in 2 72w disagree with 011 72
and follow neither %2m2 ;777 nor 20 1771 701 37 where there is a 77°no with the
other 1w — still they do follow one of these maw? if there’s no 77°no with the
other nw»



X71T DT 120 2" 7T 0"awn "a p7n 72n2 AT XAI0
XIp'yun

RDRSTYI Do 10 P12 YRR NIPY R1WA RY 0 BTRT ROPOR R9IT TIIT A0 T2

1)

2)

3)

4)

5)

6)

TPy AT 702 A1 MPIRD RDOR 1D NRY M2MD 57 IR PPOIDT BWHT RN
nawn

a) If a person says 2ama 771 77 7211 %R 79¥ M5 N2 and he was ywn 2 — or if he
said a0 37 701 37 77 751 7R DY M3 12 and he was ’min more than a axo? yan
then — so long as the %571 70 of the 70 isn’t more than 9 1°2p — awn Pww and the
112 needs to be =v1nn the anwa with (as decided by 252) mwn or by 71 of the
ypIp Mn

'R Xn™2

a) Ton? 1M DR 1D
XM

a) Nwp

i) 'X &n°1aseems to say that the 1> can decide to pay the 15 with mwvn — this
IS Mo the mawn

b) yn

i) 'R xn»™a deals with where the vypap is 911 now and teaches that if the 1m
requires that the np17 buy the ypap anwa for mwn the 251 must accept the now
oy price for the °n°

'2 RN™MA

a) n mPLW WW 17 101117 IMI R
Raplab}

a) Nwp

i) 'axn»92can be consistent with the mawn if we explain that (the same as &n>»1a
'X) it deals with where the 15w decides to require that the n1% buy the anwa for
myn

if) but how does 'a &n>>n2 fit with '& X092 as we’ve explained it
b) y1n

i) 'axnna deals with where the ypap was Xap°yn X917 and is more expensive now
— and teaches for that case that n» can say that he’ll only pay at the original
o1 price

X"

a) 'x &n»92 doesn’t say what price the n?17 needs to pay and possibly holds the same
as "2 xn>>1a that if the 221 decides to require that the ni12 buy the an for myn



and the ypap was X i X911 and is more expensive now — the nip1» can insist that
he’ll only buy the 2n at the original 71 price

b) So the x7nx could have said that 'k xn*92 is consistent with the mawn for the same
reason that 'a xn>12 is consistent with the mawn

nDY NINW 7D NInS A" TN "a p'7n 72ana 2TNRT X210

WIDATD SITWT TN NPT 9™ 12 RAPTIRT 7O XYY NRY N2 B0 nne 7''72 'oan
BIY TARYA T ROWIP DY 77T IZTON NID0IN2 DOYD "aD mINDD B'ay "o abhnnnT
NI 9227 ORP KD 12 777 TIN2 ORP P2 PO KD XYY V' 2T 2R DwRT 22Ty
1P ans R'"2w=7 AR PR "IN R0 112 00 1101 MINY YTV 70T ARINNT AN
F7T2Y 2127 KD 95777 RNYIRT 5w BN X% TRT TN 7AW NRAT 'R RWIP 1on
T "D WNBRTD TR TIN2 ORPT 2N 2579272 RO [I0NTY KT 199317 0w
NISOINT ANBN D FOATY TR PRI NORWONDT AT 2w 1A R AW whnnTs

22Ty DR

1) mwn
a) 0P npnm 121 KITW 22 NP0 Hana 7 T 191 2R 79y M0 N2
2) (MWKI7) 701 RIIW 20 Mo "N
a) Nwp
i) X217 holds that "nm IRIK *797 NINDA 190K 77P2W 127 72"
b) yrnby ",

i) The nxnx 17 of X237 applies where the 101 was maxn» the 12 by incorrectly
telling the n17 that the 15w had been 771 the 77w and it contained a =15 na
and the 17 relied on this statement to be nnp the 77w

i) But in the mawn when the 121 said 22na 777 there had as yet been no 7771 and
n12 should have understood that the 221 intended to sell the 77w they were
standing in and that the 25w said %2m2 771 only to imply that there’d be a
Mawn for even aywn of nio or A

3) ((awn) 73 Rw 95 mind "N
a) Nwp
i) Why can’t the np17 say that the npn is Hva because °121 °2777 Rny7X that there
not be even a ywn less than a > n°a
b) y»n

i) The nawn deals with where the 15w and 17 were both in the 77w when the
7o said 9ana 77 — and 117 should have understood that the 25 intended to
sell the 7w they were standing in and that the 221 said %ana 777 only to imply
that there’d be a nawn for even a 3w of nno or an°

4) RS XK "7 MooIN



a) In answer to another xwp whose o°v1» aren’t relevant here (x"waa refers to this
XOWp as 'K WP meaning NInR X°wp) X"awA says it’s relevant that the np1» stands
T7wn TIN2

5) X"wann

a) Note that for > in the first mooin it makes no difference whether the 1% was
77w N2 7MW — even he wasn’t 77Wn 7IN2 7w he can’t claim that he was ppT2
that there be precisely a 715 n»a

b) While the second and third m»oin both emphasize that it’s only where he’s 72w
77wn 702 that the n71% can’t be pTp7n — these mooIn weren’t said by °" but were
instead said by X"awA

c) Note that the second nmsoIn ends with the word "w15»72" meaning as R"awA will
wI9n in the third msoin

"N 270 IX7 XX 2" T %0 7ana T X0

RO Do 15 00 DaR Y217 N2 RPIT 9057 UERT JOPIARNRD 51 "1 IND RPN 7'
T2 N2 93NR K9 N 3T 07 37 NPT A3 IR 937 R 19 NIR RNMa2 'y
WNTR 2''DY 1D YA N2 RPIT 7'TERT IR RNI2TDT 9577 0D RDINR M1 RAND
K7 9727 Dama 7720 RAND X7 "D 37 2R 2R RDID N2 RPRT 2O 470 1''anan
12N2R DIYDT 'OINT 23 WINT FIRDD PAINT NDR IPIWT 00 YRWRT 957 b vya
a0 92397 MY WIPNYTIR POR KD N0 IPONTT 5L paARR "D 0R 37 99NT RO
PIMT JOPIMWKD PRwR ONPR POYT 21% M NAD2 N0 37 01 37 O8N parn

T2'NTY AT INDY

1) nmawn at 2 a7 - the "xw"

a) 'R pon of the Xw> — XIIW 22 7°M17 17020 XITW 22 1D Hana 7772 7 791 IR 79y M0 N2
BRI

b) 'apbn of the Xw*1 — 1RDY ¥217 99017 IR IROY Y217 NMPD 199K N 17 01 17 MR OX)
WA

2) mwn at :7p 77 - the "xo0"
X232 P99 93099 11271 PR WS 0190 011 122 N° 17 01 37 7202 a7
3) X3 here
a) °Nn RAND D N2 17 XOVR

b) xnw xn—from '} pon of the Xw>1 on 721 Hana 77 it’s ynwn that 7020 only for 77
522 but for xano the 197 is Wi

c) xwp — From "2 pon of the Xw> on 2n° 17 10m 17 it’s ynwn that wean only for om 17
an° 17 but for Xano the 197 is w2 &9

d) Xipon — “rn ypwn? 82D RN KOX
4) xn»2

10



5)

6)

7)

8)

9)

9937 2R N7 37 701 17 T2 1912 01X DY 172D 0 1912 01X DY 7D N2
1T IRD? Y211 DD 1R 0

Xn3
a) Nwp

i) The first part of the xn>92 (77 7217 *1% 75¥ 715 n°2) presumably deals x»anoa
and this proves that for xano the 17 is w7 even though the 11 didn’t say 37
ik iialely

b) 10 as explained by maoin at waonp “wio A"y

1) The x&n>92 says nothing about &»no and deals only with "> n*25" and n°2"
"0 177 9017 37 10 —it takes as a mw ws that for 710 n°25 the 177 is w1 —and is
wHonp *w1s that "n° 17 901 17 0 N2 s 1A the same as M2 n°ad

mooIn at waenp wio "7
a) Nwp

i) It’s more of a mw w» that w37 for an° 37 701 37 than for M5 n°a5> — why does
the y1on of waonp *wr1o assume the reverse

b) The yy1°n of mooin isn’t relevant here
RMAT TwHn

a) The X3 is m7 the 72an of wonp *wimo and is p on that the xn>92 in fact teaches
that Y17 for each of Xano 15 n°2 and M5 n°22 and n° 37 101 171

mooIN at I8 ’HK 7"7
a) Nwp

i) Once the &n>>12 says wai for xanoa why does the xn>>12 need to teach 1w
when the 951 said 2n° 377 017 17

b) y1n
i) To teach that even for an° 177 70m 17 the 17 isn’t 33737 if 9°M17 WX nid more than
TR0 Y21
1"2m7 brought by &"wAmn
a) Nwp

i) In the beginning of the x>x10 when the &3 wanted to derive from "a p%n of the
X (WA a0y 37 700 37) that it must be for &nno that 13737 XS because
otherwise the 7awn should have said 13737 even for xand — why wasn’t the
7m7 R this 7%an by saying the mawn prefers to say wean for an° 17 10 37 to
teach that even for 20> 377 70m 77 the 197 is w2an &% if 9°mn WX nvo more than
TROY YA

ii) Similarly why doesn’t m»on in wasnp w0 7"7 answer that 20> 371 0m 17 990
715 n°252 because for 110 N2 it’s more of a Mu w» that w7 X7 if 95M7 R N
more than nxo% ¥217

11



b) y»n

i) It’s more 12non that the mawn and the xn>>92 teach w737 for 80> ¥ than that
they teach w1 &% for 9°n7 IR nis more than xS ¥a17

il) It’s only when the & n3 is forced in the X1pon to say that x»noa the 17 is also
1w that msoIn says the & mx must hold that the wh7n of the xn>92 is that
even for 70’ 377 70m 37 the 127 is w2an X% if 92017 X nvo more than xS yan

IN7 XX T"N2 nisoIn 'a 270 7202 2TNT XA

Bo2 11""5 Doy "o IROD YA NINDD NauURS RUR ARP XD PR 7 9™ 7''Ra
SINPT INDD P2 NIND DR PTR [URTS WIS 2% 'o1na 7' ubw 'oIn nnon
ST TR WO INOD Y2YT ONTT IRARY PAR T 07 12 07 AW ONT WNTT anna
TP 'T P 12 07 PR DD AR 177 10K PDIWRM T TRY PTTRAIR Pap "7 PR
OB 92 "7 PPDVRMY TAY PPTTAI IR 1aAp 57T RN 12 7797 a8 DaN WONTY 73nm
STORT DRI PR TP FIRDD PR NI 07 NI 2D PO Ry Pap 't
YRR 2w ROWa MR DIWDT INRT RN RWIP ORPY PR AT TN PRD AT R
12'7Y 25 D N2 WD IR IR INT PRI ITIT IND OR ORTY RDWTT M0 Noan nd

1)

2)

3)

4)

5)

First inTpi —a axo is 6 ap and a 2 is 30 axo — it follows that 7xo? ya11is 7-1/2 pap
per 7

Second 7P
a) TN 37 70M 17 MR IR KNNDA 17727 37w 10

i) If anonoran isn’t greater than the 77 m» My>w for a 77w which is at the rate
of X0 var or 7-1/2 ap for a 72 no2 —wan and there is no Mawn

ii) if a0 is greater than the 7% mm Myw — wan X2 and there is a awn
Third 27p7 — mwn at :2p 97

" DPIMY QYR OW 1T T2 791 CIR 9 71D (RHNDI) 11707 NN
WY (3T KD 1997) ARy 1771 R 2100 Y 123 2°Y00 W DD
WIATT 17D Y 1771 197 NIND — 12wn

Fourth 7n7pn — X na at .ap 77 — 72 of the mawn by prxs " — pwaw (the same as o°voo)
that together are M13% 1ap '7 11 20 are 7y 1771 PR and 13737 X7 even if they’re not
o°mon ™ P

Twnn of NvoIN at R ’OX "7
a) Xwp
i) it’s a muws that 1o is more ¥ for np1? than o°yho

i) So how can prx> " say w1 X2 for o°voo that are 713% 1ap "7 17 0 when for
non the 17 is wean up to (and including) the 7%°mn ww that’s 7-1/2 1ap for a
710 Or ROY YA

b) y»n
i) "IROY Y211 MINDY A0XaY ROR MR KD prge "
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6)

7)

c)

2"wAn is °an the 1700 to read "nkon AN Mnoh A wxaL" — mooin means that

i) if the 7om isn’t more than 807 ¥211 then o°v50 that are more than 3% Pap 'v
count as additional nor (are "nvxn" with qom) so that if the total nor and the
2°vo0 is at least varn an» mno the 7 is ¥ K>

i) moon doesn’t deal directly with 2°¥%0 that aren’t more than M13% 12p '7 but
implies that they don’t count as additional 701

R"wAnn

a)

b)

The 17 set out by 2"wnn is correct but the 7737 isn’t necessary because 9010 by
saying "nRo? yarwe mino? aawxnb" refers to o°yho that are not more than pap '7 and
says that they’re qvxn with 7802 ¥2191 nnd meaning they don’t count as
additional nor and the 397 is wran the same as any 1on that’s 802 ¥ MINo —
note that m»oin expresses this 17 as the 127 of W a7 7R02 ¥arwa nino even though
w7 applies also where the 2orm is precisely nxo? ¥217

mooin doesn’t deal directly with o°v%0 that are more than =113% 12p 7 but implies
that they do count as additional non

Twnn of R"wann

a)

b)

TR — 17 10 vOWK TWIN2 Ao N2

IR TTW MR ROR [10129] 12 PRWD RPIT IWOT IRD? Y11 DD 1IN 0D
PMITW 2 0217 1972 DR T2 797 PR 2PN NN D WO D N2 10
197 M3 N°21% 1M (M2 NP N 937 702 1Y)

Another y17°n to the xwp of moon

i) moown could have answered more simply that the mawn at :2p 77 deals with
where the 25w sold "vnm7wa 710 n°2" and needs to deliver a precise 75 n°2
without even a y7wn of 1o — prg ' teaches that in this case o°y%o are less ¥
than 1or because w37 X7 applies only if the o°v%0 are more than 2p "7 per 71>

TR q7T
[2'0N2a DA AT N"awn 1 790 7ana ATNT XAI0

B2 Y217 9277 3NN AR KD 7''ERY 10 2701 A M2 2 awnna [2 Ty TP 0T

NPT WADD 7790 RO RDT 2''op "D 90 IRD YRAR MR N7 Y217 9% "N IND XN
RIUT 290 T ST PO NTT 0D IRV AWM T PAT JMWR RDT mwvwna
1P2P "7 INTT MDY D DOR NOYOANTT 2 DIPH TAMI 207 KA 1mb RDNRT 2R
VTR T9DNRY TR KDY TR NNIN2 ORI TR PO 1T KD DY 0 BB R
TR ORI IRY MR NTMINR PDIT 2WPATNT Y N NTRWN R TV TR MWW
29 57T AR RDINT I IO RIT TODIA YA ORTT RO O'NWR TR Mwh
RNWTT RO 277 50D Y217 9B N7 RPN 1'57T MKRP DR 79I NN INRT 1AM

DY NI AT SUTIDT T IR MW 1R ININ [N KDY 7R NN T T 9D 0

22T JamE 20 avYann
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1)

2)

3)

4)

5)

6)

First 7a7pn

i) If a-on or an isn’t greater than the 77°nn Myow for a 77w which is at the rate
of R0 yan or 7-1/2 yap for a o n»a — the 127 is w21 (the same as 2°nn) and
there is no Nawn

ii) if an is greater than the 7%°nn 2w — the 7 is that nawn awys and w2 Pon
15 9w who can decide to take mwn from np1% in mvna or by - of the
yppn N — but if the o1 70 of a e is greater than the 77w 7w that is 9
1°2p the 7 is 177 and the 101 must accept Pm>wn by 79 of the ¥papi amin

Second nn7pn — np1oma of X377 27 and 1 27 in a large 77w where the rate of yanm
7x07 adds up to a 2217 70 of 9 1°2p or more

a) X177 27 says that pawn nww
b) am1 27 says °nn

Third 7P — npYonn of 1321 and ®2°py " in the 7awn on :ap 77 on what %377 0 counts
as 11°x Myw and has the same result for 713 as a 9271 70 of 9 1ap has for 77w

1) 7127 say the 7rx M w is 2p °Xn
il) X2°py ' says the 713 MW is 2p yan
Fourth nnpn — 79017 by 0"awn to the npomn of 1327 and X2°py ' on v
a) 1327 hold that nxo% apn van is the a5 mn Myew for 1% the same as for n7w

b) X2°py "1 holds that nxo *xn% 2pn vy *xn is the 77> Myew for n unlike the Nyw
m°ma for nTw

X3 — Rwp to 71 27 as explained by a"awn

a) Presumably x2°py " deals with where the 101 sold a ixo and there was a 1n° of
¥y ¥ for each o *xi (the 7% m Myw for n13) for a 9571 70 of nxoH yan that’s a
a3 Mww — yet the mawn says that pawn nwy and there’s no 79°mn — while for 29
1 the 17 ought to be 2°nn the same as for 77w where there is a 7%°nn 2w and a
T YW

R"wIN
a) Nwp to 0"awn

i)  Why does o"awn need to say for x2°py " that the 7%°mn 2w for nrais “xn
TIRD X177 Y2

i) o"aw~ could just as well have said that x2°py ' agrees with 1121 that the M w
m2°ma is R0? 2pn vy and the x*wp of yam1 27 would still apply because the
"2 mwew for a whole nxo would still be equal to the f2o ww

b) y»n

i) o"awn holds that if the k73 were to ask this x*wp the & n3 would have
answered for jnn1 27 that

(1) for 77w the % mn Myw (7802 Y211 or 7-1/2 13% 1ap) isn’t destroyed by
77w yw (a total of 9 1ap) because they are different oy w

14



(2) but for 733 the 7% nn yw of nxkob van is destroyed by the npx ww
because the o™ w are the same

'woNnT N'XIE AT 0"awn 't 270 7202 AaTNT X120

179 R''OY "D 01 37 7700 SIIR ORM D'RT "D ER RITW B2 ORIT CWIDRT MR 7' 72
MDY FIRTOW 1 9D TIMIT AW 9D N7 ART DA TAR RWIINR IRPT DD 198N
SRPT 2''RT KRR 12 TIND 7797 AR K27 NINP RANY Pinna 2'awnns pphap I8 nwn

19" N2 TR W ARW RPOD N2 RN 7 NP BT RD RN

1) Refer to the nnaTpin Y pon
2) XnrM2

a) YPIP 1?2 TR RIW 901770 ITWY A0 [101 10w ypap ] o ox
3) o"awn

a) nvw of owoon v — the Xn»12 teaches that if the anwa is w7wH o

i) the 721 isn’t Pmn the 7 even if the ann is xiw 95 and is less thana yan
ol

ii) and the 221 must accept m>wn by 771 of the amn even if the anm isn’t
77w NYw — the 101 can’t ask to receive Myn» instead

b) X1 &0 WD because o"aw assumes that the xn»1a deals with where the 101
said 10> 771 o0 37 and if there is no 7%°nn even for less than axo% v — in other
words if there is no 7%°m y>w — it results that " n> 371 1om 137" accomplishes
nothing

4) R"wamn
a) Nwp
1) Answer for the o>wnon v that

(1) the xn»12 deals with where the 121 said 2ana 777 (and not with where
75% said n° 37 701 377) and that’s why there’s no 77°nn MW and there’s
7 even if the ane is xinw 3

(2) and the xn>>n2 teaches only that because the 0> is 721 Hw 7w 7m0 the
i1 can force the 1o to accept the 20> by ypap namm even if the A isn’t
a T W

b) y1n

i) This xn»92 appears after the xpo» of "77wa 9»w arw" that’s on .7p 77 and
refers to the portion of the mawn that deals with an° 37 q0n 17
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7 Q7T
nwyn Xa1 n"Tn ‘X 770 011 AT XAIO

WIRNTA2 TP D'OY 1D PINT BRIARD "o Twyn X2 7''72 newn [R 7wy P 0T

BRI 20

N2 7ax a"Tn "2 770 011 AT N1AIO

12 7"'2% 797 NI 7T PII PORT RO DA 12 90 X12anonT 'Y "o K2 PaR ''7a
9277 720 DIZNIVT 172 KPR VD 7117 KD K120 57 1107 D12RI0T KT IND2 1 9oy

2H'"Y K72 1YY AHD KD 3207 1Y 1 R

1) nwn

TR WD 0I1N 011 12 °7272 — IN° 177 707 17 T2 191 "X 9ana 77N

2) X

a)

b)

d)

f)

7RI 2902 PUNAT 1INR 1T 1TTITRT 011 72 DY 197727 1OV 7RI 27 IR 9n 02 RAR M IR
TR WY IR PWRI PWH 010N R 19K X 79 XPOONT

XOwp

1) DRI 1TMRY 0 1 A" 2w 197 WK K2Y DY PR DWW TN R1°IN 2R OR1
TR NWH 01N N NWRI PWH 0IDN X T2 RPOOAT N2V WA

YN
1) It’s possible that

(1) o "1 a"awn would agree xnbva with 011 72 that 1R WS 0w if it’s clear
(as in the mwn on a0y 37 10m 37 9ana 777) that the person who says w9
NNR is 777 from PwRa P

(2) And still in the mwn of yrnan the 17 is 312 because there’s a poo whether
the vown intended to be 1777 from Pwxa 1w and intended instead by 117
Wi 277 to be wHonp *wis that the 7°own could end the mow at the end
of every wmn

ii) That’s why 2% 72 XaR " needs to say that *ov " x"awn disagree with 011 12
even if it’s clear that "2 7771

ORI
i) "[Prmin n2wh] MNwHaw NN R 770 MR 2°M01 DAR 011 12 0027
Xowp part 1

i) "Da132°927 " 7IROY suggests that HRyaw means % X7°20 891 11 and that Hxwnw
disagrees with 011 72 — yet in the case of ¥502 80 o°w5wa 715 both 29 and
oxmw hold that m1p Pwra wra presumably because they agree with 011 32 that
MR NwH 01N and that each XD counts as a separate npn

Xowp part 2 as explained by msoin
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i) And on the other hand it also can’t be that YXmw agrees with 011 72 because

(1) 9xwaw on the mawn of yrn says that the nvw of A"aw and o ' that 19
applies only wn y¥nxa X223 but 9°own? Y10 wInn nnna x2a2 and n%nna K22
"OWH 1D W

(@) and presumably the reason is that % >poon *p100 whether 1w own
R and

(i) =own? 1215 W 7°nna X232 because the 25w is vann Rown and
RO POV

(i) 22w% 1215 w7 7102 822 because in effect the 20w was already
0910 the whole w7 and 17 1°p57 XY 090 °X because then the v own
counts as X177 1°9Y 1772 RO

(iii)p?m wna y¥nRa X122 because the 70w counts as if he were o910
half

3) Twna of mooin
a) Xy¥nRaat.paT
1) mwn — P12 M 2w T 31T 0273 PRI AN 710 520000

i) X3 — 772mn ROXVAT TR KNP RO NPINA XAPIR 27K 097200 22K D10 127 7
R POV

b) o°naa npm P at (7o a7
1) 923 2°9RT 92 7M1 27 MK MR DWW AT CMAR YW IR T
i) xwp

(1) 2°9RT 92 729918 KDY IPI2° DIDNI0PT 7727 AN 71D AOmAN INT RN RIW ORD
b}

C) M®DIN IN 0°N27 NPT PO
1) xwp
(1) The 119%1 doesn’t follow 010110 SO why is the mawn a X>wp to 1 20
i) v

(1) The xanx assumes that for *max Hw 9mIR 71 *Mar 5w IR 71 where there is
no Xnp X N and neither person counts as Xnp X7 Or a 177ann RoXw—
1127 would agree with o1om0 that y21%m° and that the 17 isn’t 223 2°987 9

d) mooin here
) xowp

(1) We’ve established that >1°n j1°pon 82 050w » and TR IS 17991 17707 RO
X177 — presumably the same would apply if there’s 7001 in the case of
nooman — it follows that the case of 7°%man supports 1am1 27 who says 75
723 0OM DOORT

i) v
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(1) The & nax asks that

(@) in our &0 and also for mnna 719 A*oman where the case begins with
12187 Who is &np X n and nynw who is X' it’s understandable that if
1AW is 091N the 1327 say for 12187 that X7 1oy 1vann XX

(b) But for *max %w °mx 71 where there’s no starting &»p &7 and no
starting X277 1oy 12 XX it’s 9anon that 1327 would prefer to say
y12m and not establish a y1°2mn X°¥1n7 that didn’t previously exist

4) R"wn
a) Nwp

i) Once the X3 has this 8720 for 1327 to say 117m° for >niax 5w v ar why s it
relevant that o110 for avana 799 7°%nna says p1Pn° even where there is npm
XnpP XN

b) v n

i)  Were it not for the v w of 013210 on ana 799 7Poman that I om° even where
there is &np X npin the X2 wouldn’t have relied on a &720 to say for 3129
that the 17 ought to be > where there’s no &np X npin

NX1) T'N2 NID9O0IN "a 770 011 AT X'AIO

By 19 7MWY B2 DY STIR ORI WTIT OXM DY ITIR NTIR 2''D R KDT IR 7''N2
SRNAR DIPHTD 'R M1 IPPMIT WTITT YRARD 23T 2779027 IO 2%we7 'owna '
DY MTIR 2''0 TR RYT 10 W% PINT annT 7' YRnT 190 W OXAT Y noven Y
PR TN PRD IND AT WY IR 7D 97 DY OTINT TAN1 aRY W X7
2TIP IPYDT ODN ANTT TN WY NP KD ORTY IR PWNRIT RIVINT YTV PN
DN ROTTD IR PRWNRIT RUVT TATAT XTI 7YRT I TR KDY poon TONR

IP'TY RPODD PPIYR 11997 10 1" DDNT 2K IR RAYY

1) Twnn of mooin
a) Nwp

i) From the x°x10 of 172 pn (whose w19 aren’t relevant here) it’s ynwn that
70050 doesn’t avail for a person who’s 177217 XX

i) Why then does Hxnw say that 121w 1915 if the 2°0wn is wnn 702 X2
b) v

i) If the 2°own is w7 Mo2 K2 the 7°own counts as % 71X 7k to the 12w and
this is why 170°5n by the 1w is effective

c) »wp according to the xo7x of X"wnmn

i) It’s not 12non that w7ni &322 the 9°5wn counts as 7k 7k for W *¥n — so
why is the 17 that /oo

ii) And if this counts as 2571 2y >73 »7W why is the 17 that 1p17m
2) wnn of the X
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a) 11°nto the X>wp in'a poi that it appears that >xmw doesn’t agree with o11 32 for
v and yet agrees with oa1 32 for oowhwa o

i) "bi72°727 w" means % X770 XY and Yxww in fact disagrees with 01112 and is
PDI0M on whether 1nR W 019N

(1) In the mawn on %an2 7 he holds "mawbaw mns ank 727" in favor of the
751 who’s yppa prmn

(2) For ynmn he holds wmin 7102 822 that 10w 1910 because the 25w counts as
09N

(3) For owhwa 72 he holds that 73p PwRa WK because
(@) 000 x7 N1 (D°WHW2 M22) NI RIT 0DNT DWN XA XAvY (YnIn2) and

(b) n2>wn by the 1% of PwRA MWRA counts as 100N and is 12 over NP
Xnp }n of the 7om

3) Twnn of X"wnnn at "yn"
a) Nwp

i) The same as moon asked for yrnn why 70°5n benefits a person who was at
first "R 199 12 KoM

i) Why doesn’t mooin ask the same x*wp for owowa M3
b) yn

i) The 1>wn by the 12 happened before the poo was 7711 — the poo was 751
only later when it turned out that the n1? didn’t make 75°wn for the entire 75

ii) As aresult the mown by n»12 doesn’t count as 70°on from a prmn but as a
proper 1°1p that makes him count as x»p ®7n (and not as 1°ann &°¥1n) when the
To20 later comes to 1°7 n°2

c) Nwp

i) Then why does the &3 say that the 17 for a*wbwa 11> is based on noan the
same as the 7 for ynn

d) y»n

i) The x7nx means only that both for ynan and o°w5wa o the fact that the 1> is
0°5n resolves the poo on which 11w to follow in this case — but the x 3
doesn’t deal with the 120 that support the fo°0n - namely for yrian that »17x
*7x and for o>wHwa o that the 7o°05n was pooi 721w o71P and the 1> counts
as xnp X n for what he was qun

4) n"awnat oo "y

a) anTpn — return to the x>wp of the xna that the X mn of HXmw on owowa o
suggests that % x7°201 17 and he holds anx 17w o190 while the X of HRww on
yrn that ypYom suggests that % X7°20 891 11 and he doesn’t hold that nw® o19n
NN

b) xwp
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i) Why doesn’t the X3 answer that >x1mw actually meant % x7°201 37 and holds
that 179nx w5 0w and this explains why Hxmw for owowa 715 says WwRA
73p nwra — and still for yran he holds 12191 because he’s poion whether the
T°OWwn was wonp w1 the same as the xna at '& 7wy (as explained in 'a pom)
said that it was possible that 3"aw= and >ov "3 hold nanx 7w ©wn and still say
y»17me for yran because of the poo that 2°own might have been wHonp w1

c) First y1n
i) It’s more 12non that the words 011 32 727 11 mean % X7°20 X1 1
d) Second yrn

i) 27 doesn’t accept the wIdn Rp *w1’d 0N 'R 7y and it’s 12non that HRww agrees
with 20

i) Here’s proof that 21 doesn’t accept the w197 Rp w170 0N 'R 7y

(1) We’ve established in 'a p%n that 21 says 011 32 ¥ 1an 170 and
presumably 21 by 1772 means 3"awn and *ov ' in the 7awn of yrnn —and
if 27 agreed with the X120 of wnon &p *w17°5 how would he know that
A"awn and >0y ' are P on 011 12 — maybe they agree with 011 12 and say
PP only based on waonp w11

i) noxw
(1) Maybe 21 does accept the k120 of wonp *wid and by va°an he refers to
"R10R 17°2n" who deal with a case where there is no 120 of wHonp “w7s
Iv) nawn
(1) That 7272 would be a pm7

(2) Besides oxmw after he says "onon" disagree with 011 32 refers to 2"aw- and
*01° " and explains why they say 3% and it’s 9anon that 21 by "»=an”
also refers to *o1 " 3"awn

5) mooin at o7wh ’HR 7"7 as explained by X"wAmn in 71 pon

a) moon uses only the first y17°n of o"awA to answer the xwp of 2"aw — we’ll show
in 71 p%n that m»oin doesn’t accept the second y11°n of o"awn because moon holds
that it’s possible that 27 by »an refers to *1°9nx »°2an

b) It follows that for mooIn it’s possible that 27 accepts the X720 of waonp *wrs on
'R TNy

NP q7
|7 ynun Xp 2”71 0"aw "1 P70 o1 AT NIO

272519 K297 MWD IR WARP OR 7T "0 B''ap T2 2" awnna [2 Ty ap 0T
ORTY WHDMP WD 202 NP1 ART VIS VAT KU 197 2o "o whnnp w e
TRy TDINT WP 10 MDA NIND N2 Do »''obY

1) =wnn of the X
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VN RN — ¥ RN YA ARN (YR 96 MW XIAW) XINOK 27 72 N
XINOR 1177 RINOK

a) Nwp
i) Presumably 27 °2 >k teach that 27 holds anx 7w own

i) But we already know this from another x7°» in which 27 says that yrinn» that
he would have held 2°5wn? 910 even w702 822 presumably because 217
Wi 277 is PR N and 27 holds 1R wH 01N

2) y1n of the X mx according to o"awn

a) onnn Xk —meaning if we knew only the 7 of a1 for yin that 9°own? 910 — we
might have thought that 21 in fact doesn’t hold 1nx 1w 010 — and in the case of
v he rules in favor of pank nw2 because 1R w5 doesn’t contradict WX NWS
and instead is woon *w1°s that although the standard mavow is 7w ovaar '20 still
in a M2°y naw the mow is win% 271 1107 — and this is why 21 needs to say the
X of X7no°k to make clear that he follows nank 1w even when not supported
by waonp w1

b) x"wann refers to this 751 as 7102 Xno°R because the 12 ynwnp at the end refers to
XINOX

3) y1nof the X mx according to >"wA in HXwn pao
a) If the &3 had set out only the x7n°» of 27 on X7no°x we might have said that

i) 27 actually disagrees with 011 72 and holds &»%va that mnwHaw nnd R 727 in
favor of the prmin and Xano>x is an exception where 21 follows Pank W
because the person who says xano>x first and then says nvn nxn means to be
wIon Xp *w17°o that in his wxa w5 he meant a 5173 v9o that has 100 7y» — and
in the reverse case where the person said v» a8 first and he then said Xqno°x
he was wnonp *w17°d that he meant 100 myA *v» that are worth only a standard
X7noX that’s worth only 96 standard >y

il) and that’s why the X7»°» of 27 on yr7n is needed to teach that 27 says 0wn
TR WS also knhya

4) waon Rp w1 7"7 mvon as explained further by X1nx M 3"n in HXwa pao at :ap a7
a) Nwp to"wn

i) How could there be a x1nx mi that 21 holds x»>ya that mnw2aw mno R 7971
and that the reason that for >y» 1x» X7no°R the 17 is "y 8n because w1
wIonp as explained by »"wn

i) when a &3 in v1ws va at :nop 77 says that

(1) if a person says 100 pnr and then is X772 w1on "o°yho 20 NR7" (Where in
fact 100 >nr are worth 25 o°v50) the person who’s not P1min can be X
only 20 o°v%0 because in favor of the prmn we’re MNW22w Mo AR 77117
and say that the v°s clarifies that the reference was to 100 pyas 117 that
are worth only 20 o°¥%0
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5)

6)

(2) and if a person says 100 pnr and then is X772 wnon "owo0 30 NrrT" the
person who’s not p1mn can be X% only 25 o°v20 — because in favor of the
PTMIN We’re MNW2aw NMino nR 7217 and say that the reference to 100 11 is
w1on that the reference to 30 o°v%0 is to PP¥17a o°v>0 that are worth only 25
0°vo0 that aren’t 1°37173

b) v n

i) Inwvws v the difference between nyw of the two maw? is greater than in
Y1 7IXM XIN0°K and that’s why there it’s more 72n0» to say w9»p w175 t0 go
mnwLaw nno an2 and not to say waonp *w1d to go NNk N na as explained
by >"wA here

c) Twnnof maoin

i) For areason not relevant here — the nv°w of o"awn is more 2w>»nn in the X°x0
here — the v w of *"w1 is more 2w>»nn in the X°X10 in YR Po

Twnn of o"awn
a) Nwp to "wn

i) It’s 7anon that 21 holds not only that >v» Rn >via 8 XNk but also that 1"
YN RN YN TRM v even though for *yn Rk "y 1"Y even *"wn would agree that
there is no X120 to say wHon *wi1o in favor of pank 1w — so it must be that
the X3 understood that the 17 of 27 must be based on 1nX W 019N

X"wIn
a) noRw

i) Why does o"aw~ assume that even *"w= would agree that w957 *w17% couldn’t
be the basis of going iR W 22 if a person said >y 1"¥ instead of Xno>x

b) nawn

i) Because the w1on Xp *w1°0 for *vn fx» XIN0K in PWRI WS means a 217 ¥50
that has 100 nivn obviously can’t be said for *vn 781 ¥ "8

i) And even "w1 — who says (contrary to o"aw") that waonp *w17o applies for
v 7Rn XNo°R in favor of following ank w5 — would agree that woonp swrd
would be understood in the 191% of 1¥173 and would result in nne AR 797
MINWSaw as in vWws Vi PIo

N7 XX 'NINN T2 0"awn 'a p'n o1 AT X12Io

B By "D MI0aY NAWINDTIY DIWH MRTD WADAR MDY RO inn 7''Na
WRDRP WD MM ROORY V'R IPIBAN WADRR WD 0D RDINT PIUD RTD
MWD TNPTR PIORT 19D MRWPAR PRI WD 71910 1R vad wavnw a''nea
NOOR N7 NKR 71025 YR IRD RINDIRT 25D WIIND7 372 1PN DOpH ART wDnp
772009 ROORT 2% RINDINT RITTA 799 YRR KD 90wnD {19157 ROTIT DR nms
"' awa "OINT MWD DY YYD MSRTD WHDRP MWNDT IR IRIIT PIIIRT R
MVIMDT RT2D 7 N2 RDT RNDR 77 21701 0157 0DRWRD A9IDT RIIIT O9 PIVNINT
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D31 32 DY 19027 195 PR 20 RRT RN DR 0 YRR K7 9Wh MRTD DN
51"y 2" 2w 197927 RAOR 011 32 5 1902 PRYBAT ' 0K RN20 IR 190 NN ONT
T KDY 1791 S1MR 1AM HY PRIDAT D 1199 RO KDY RN20 N7 MR DK N1
VIOXTD KPR — D 19) ew DS KDY 37 925 179033 DY 2" awn wyves yranT
™ NP9 RPT W'Y "D 2v01 DaR MARP 21 BRAWT T {(R1M 2172 M
27219 ROOR IRTIT T W KD '0IN7 BYa ' DaR 1701 YR QAT WIATT RS
ROINDIRT RITT IND ORI 17291 PIIOAT 1727 IRDY O1IR QAT 11997 120 1Ry PRYenT
A1 TIAR I2AT ' AWM IRAN DO AARTD WRDRR WD Rmbh JRR T
Y9 Dawn IO7T KUK '2INT 120D KD "2 B0 KDY 97 028 0" 1pn MnRp vt

22" 92 29701 DaR MARPT 2R KDY D' DY 11T

1) First nnipn

a) o"awn calls "2°¥%7 waonp w1 the X120 of wHon *wi7s that (as explained in P70
'2) the X3 on sets out on 'k 7MY to explain that 3"aw= and *ov ' can agree with 32
a1 that X WS 0N and still say 1210 in the 7awn on yrn because of a poo that
the 2°own was wHon WD

2) Second 7P
a) see s pon for

i) asummary of a xwp by 0"awn at 07w 17"7 that’s not relevant here and the
second y1°n by 0"awn to this x°wp that’s based on a Xipon by o"awn that 21
doesn’t accept the 2v27 waonp *wrd — note that for the first y11°n of o"awA
(whose o°v1» aren’t relevant here) it’s possible that 21 accepts the X720 of
9297 WI9np WD

i) a0 that mooin in fact relies on the first y17°n of o"aw- and therefore holds
that 27 can accept the X120 of 2°¥%7 waonp w1

iii) a xw1 X5pPw in 0"awn on whether the 02 of 011 32 that are mentioned by 29
—as well as the o>non mentioned by Yxwaw — are 2"awn and >0y " of the mwn of
yion

3) Third fn7pi

a) We established in "7 p%n that o"awn disagrees with >"wa who says that the >wy7%0"
"wAonp of the xna here refers to the X7 » of 27 on X no°k and that it’s more
qanon the waonp “wivs refers to the xmn of 21 on ynan

b) o"awn notes that for his v w it turns out that the x>»10 deals with two "o 1w" of
WIDNR WD

i) The 2v%7 w1onp *w170 on 'R Ty where the X3 said that the 3"awn and "ov "
can hold that 1R w5 0190 RXbva and still for ynan the 197 is y» %m0 because of
a poo that the 9°own was won "W

ii) The "q102%7" waonp *w17d for 21 on '2 7y that it’s possible that »5va in fact
27 doesn’t say 1INXR WY 010N and it’s only based on w1onp w1 that he says
for yran that 2vown? 1712
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4) Twnn of mpoin — qww of >

a) "1 agrees with *"wn that the X3 explains why 27 needs to say the 17 of yrin
that 2°5wn? 1910 despite his already having said his 17 for Xano>x

b) But

1)  While for >"wn the & nx explains that if 21 didn’t say his X77°» on yrnn we
might have thought that his 1>7 for X7no°x is based on wA9np *w17°o and that
Xy in fact 27 doesn’t say PNnX WS 01N

il) For >" the X3 explains that if 29 hadn’t said his &7 for ynan it’s possible
that although x»%v2 including for X1no>x the 1°7 is Pnx WS 0w — still for
yrian the 17 is 0w 1915 because it’s *x71 that the =°own by his nanx 1w of
Wi 277 717 meant the H°v27 waon swyd and as a result 7121w 1910

5) X"wann
a) Nwp to 0"aw"

i) Now that we’ve established that o"aw in this x>»o refers also to the "pay" of
the 2°9% wHonp *wrd for yrnn

i) Why doesn’t 2"aw in this x>»0 of xno°x follow the nv>w of *"
b) v n

i) We established that o"2w~ in his second y17°n mentioned in the second nnTpi
holds that it must be that 27 doesn’t accept the &720 of 2v27 waonp WD

c) Nwp
1) xwp

(1) Why does " hold that 21 does accept the X120 of 2°¥%7 waonp *wirs for
yrnon

i) 1N
(1) We’ve also established that nao1n relies on the first y11°n of o"aw~ for
which it’s possible that 29 accepts the X720 of H¥%7 waonp *wr s

wIonN7 'win'e 2" TN ' 70 o1 AT X110

RIRHT 90D "2 RITT2 ANR KDY RIT2 NN ON 77 0D9 A" "o wme 7''a 'on

"D 2D WNDR N IT DY IR TINDT DRWNT T VT YRR RATTA MNN KD
B!

1) Referto '7 pon for a xwp by the X3 on why 27 needs to say 121 X1no>x to teach that

he holds nanx w 0190 when 27 already said for yron that 2°own? 1215 presumably
because 1R WS 019N

2) Refer also to '7 pon for the mw w of o"awn and *"w on the y17°n of the X3 — Mwpa —
for o"awA that from the 177 of Yy we wouldn’t know that 1anx 17w% 0190 — and for
>"w that from the 17 of X1no°Rk we wouldn’t know that 117nx 17w 0190

3) moon as explained by X"wann
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There is a X071 for the y17°n of the x7na that includes the bolded words that follow
5'"Ap WIONP SWIND RAONT 1D KA ANNR KDY KT 00K ON

Now "x72" means “this” and refers to the X2 of 27 on Xno°k with which the
X713 begins this portion to the x°x10 — and "X>772" means “that” and refers to the
Xn°n of 27 on yron — and the X3 means that a2 22098 89Y RINDIN2 2NN O
12 Ynwn Kp W15 Kp SWIND R1ONT 1D

Now for o"aw this X073 isn’t appropriate since from the x»°» of 27 on X7no°R we
know that 1anx 17w% o190 — but for >"wn the X0 is correct because the o of 29
on X1no*} might be based on waonp *w115 and doesn’t clearly teach that 17w% 01N

NN

INXN OXIT'NA 'T 270 011 AT N'AIO

MNMD ORI V9IS TR KDY 1D VAT RATT ARWT D' "0 0"wm wyed n''RY 7''NRa
TWIORT DA 297 ONDAR TAPY 'DINT 12N0R RNISX 2R w1 'O whnnp
2''9) VWD VAT RAUTTS MDA NIAD N2 DM XM KRDT 2R RONDIRT NI

PMTI R"Y DR D''ea 'oInn

1) First nn7pn — Refer to '7 pon for the nwow of »"wn in this X210 — %P2 that the X
answers that if 21 hadn’t said the X of yrn we might have thought that the &
of 21 on X no°x that Pk W prevails is based on waonp *w17d and doesn’t prove
that 21 holds that x»%ya we’re 1108 W5 0910

2)

3)

4)

Second 7P — refer also to "7 pon for

a)

b)

a xwp by moaown from vws va P75 where the X33 in a somewhat similar case
relies on waonp *w1d to be mnwHaw mino nr 7217 based on a X120 of "Pya"

and a y1°n by mooin that the X na in vws va deals with maw® that are 7 71 1PN
and that’s why the X3 there actually follows wnon &p >w17°0 to be mins anx 7217
mnwoaw — while the My in the case of X1no°R aren’t ;712 77 12177 and that’s
why the &3 says that were it not for the x77°n of 29 on yran we might have
thought that 21 in this case because of wnonp *w17° goes NNk ws ana instead of
mNwLaw nno N2

Twnn of MvoIN at P 7 — "277 °2°1 NN 2 PR

a)

b)

mooin explains why from other man n of 29 the X»3 couldn’t have derived that
Xnbva PR 1w 0190 unless 21 had also set out his 17 for Xnoox

mooin goes further in "X o and says even if we had derived from the other
manon that 27 holds x»5va that nx 1w 0190 still — if 21 hadn’t said his X727 for
X7no°X we might said that x1no°x is an exception where the P7is mnd R 790
mnwLaw based on the wHon &p w10 and the 8720 of Py that’s set out in v P19
vws for o1 Yoo

X"wAnn
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a) Obviously mooin in Sxwi pao isn’t wn for the y17°n here by mooin that w7
wonp based on a X120 of Py1na applies only in vws vx where themnw® are PP
7 1 and not for X1no x where the mwY aren’t ama a1 PPN

A Q7
wUIoNn? 'wino T'Na 'n 770 011 |AT XAI0

2725 R2OR RINDIRT 12 NN DD VRN "D wADHRR D 7R [R TNy P 7]
N7 @D RY 7909 0" B op " BT "M PO RDY 1D ''wn en wannp wn e
BoyDT WADK RP MWD RTTD KUK 17''50 K971 2''wN5D KD wDnp SN0 K27 RRPT
RO "N wMDD BRI PSR WM ART DU KM 2IRNTDYT TMRPT KON
297 o057 '3 1T9ID 1DVIOR DOYD MIDDINT WA 79T IR PRrnaTD 2''awnns
J95% DWW RINDIRT ROUTIAT RIS 1DMVIOR KD N7 V' @D whnl AR han
S'RT 1T 909 ' YT KD AR 15 2 0T RT PP TURONR KDY MR WD 0107
ROR JIIRT 205 B KON 171 10 IRD MW7 77 2P KPR 1D a0 1207 (e

2T KDY MY

1) mmTpa

a) Refer to "7 pon for the mu w of a"awn and >"wn on why 21 needs to say mnn for
both yrnan (where 27 says 2°own® 1910) and X100k — ¥pa for 2"awn we couldn’t
have derived xn5va 1nx 1w 010 from yran because for yrnn that we follow
1IAR WS might be an exception based on wonp *ws — and for *"wn we couldn’t
have derived xn5va 1nx 1w 01N from Xnox because for xnox that we follow
1IIR WS might be an exception based on wonp w1d

b) Refer to "7 P> where we established for >3 that the &7m°» of X1no°k does teach
that 1R WS 0190 ®1PYa but the Xn°» on yrn is needed to teach that there’s no
exception for yrnan based on a wnonp *w1s that would result in not following
IR WL

2) Twni of mooin

a) °" says that 21 needs to teach 1nx 1w 0190 for XAno°x and o°w>wa > and yrn
because

i) his X9 1 on ®7no°k might be based on waonp *w17°s as explained by >"wA

il) his X2 on yrnan might be based on wnon *w1o as explained by o"aw- or on
a nuw of 1m1 27 (the o°v7» of the nww of yan1 27 aren’t relevant here)

iii) his x7m°m on ow5wa 715 might be based on 70°5n as explained in 'a pon
b) xwp by "
i) Given these »11°7 how in the end do we know that 21 holds ik 1w o190
C) 11PN — "I DYV POV IR? PATT OITT IR ROR"
3) R"wann
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a) Nwp

i) Why is >"1 concerned with the mww of o"awn and " given that he disagrees
with them

b) v n

i) We established in "7 pon that the nvw of o"awn is aw»nn better in our ®°x0 and
that the v w of »"wn is aw>>nn better in X P79 so the a7 of both mww
are valid and can be relied on to explain why the three mnn°» of 27 are needed

il) "1 then notes that it’s a X>wp to his own nv>w why the &71m°n of Xano°K
(combined with the x7n°»n on yrn to make clear that there’s no exception for
Y1) isn’t enough to teach NN WS 0w for Dwowa 1o and ’nHva

iii) >"1 answers that for the mv>w of a"aw" and *"wn given the *»1*7 mentioned by
moon there remains the xwp of how in fact we derive that nanx w5 o1on for
27— so it must be that 173°1 2yv 9P°v RS *>177 737 — and > can use the same
Tonn in answer to the X*wp to his v w namely 17201 avv 9w R 7 730 and
that 1777 "> that 21 holds that pnx 1w o019n could be derived from any of
the mnon

NAT X'anl T'Na 'O 770 011 AT NAIo

"D IR WADYY B0 KDY T JIPIARRKRYD TIURON RTIWT PRMAND X2T KU 7''N2
117 RPN ONORT 2110 KDY 1T YRR KD WTIMT YXARAT RUTT N7 AN R 00Y
Doy RANR Y27 VANTD WUDRR MINDT 2R RAYY 11T "D W YRARAT TN B0
T IND2 2"'R B0 RDT 27 PRAWH T 2a%I11OND 2RI PpH M5oinT 2 awn wpaw s
T RPR DD KDY T JOPIRWRT RPIT IRDT MRI AR IO RAN ORI WTINT YRANAT
TOMRORT ROWP KD M1 710 PR JINRTT TR 1D AR JIPIMWNK RTIT PRAR2T RN4R
TR 'Y 32Y 25799272 DHI MIYLW 201w NIDDIN SNRIMY B0 17 R RDT
WIITT PINRRIT RAYTT 2O KDY M ML NID MR 07 RO AN JPIRwRY

TR'NTY T RD AN 1D PIRRTT R IR WY JWIMWNKD TIUNN

1) mooin according to our Xo7

IPIMWRY [PRMAW? TA0XR NINR WD 0190 177 10 DMONT 77°17]
WM YINAR2 X227 RITT — MDY NIND MR T2 22NN 20007 92K
NWRIT RN — 7IWNT WD BH R0 R UT IPVIAWKRD TI0XXR
XOTIINT RO 70°0N DV A0DNT PYIMWR? TIURR(T) TP WK

9 OTIRT DWW MY RIRT 090N VAW KD IWnaT

2) X"wamn
a) Xwp

i) Why does m»oin say that the xm°n» by Sxmw that 2"aw- and >ov 1 who
say 12 in the mwn of ynan deals with wn vk X212 serves

(1) not only to be waon the mawn for o°non who don’t hold 1nx P 019N
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b)

d)

f)

(2) but also to teach that "o X771 11 namely that xmw himself also disagrees
with 011 12 who holds 1nx 1w 019n)

ii) after all we established in 'a p%n that based on waonp >wis the 127 for ynn
would be y»om for wn yxnxa 82 even for o011 12 who says s nw 019N

Possible y17°n

i) Mmoo here relies on 22w5 X9R 73"10 on :ap 77 where (as explained in 'x pon)
moon says that the words of Sxvaw that 757 £°9mIR 001 Hax 011 712 27 7"
"mnwoaw nno anx are themselves enough to teach for Hxmw that X120 X711
b

X270 to the possible Y170

i) Then — to teach that "o X131 - MmN ought to have said that "o X117 is
based on the words m1w5aw Nno IR 727 22X 2’157 22X 03172 9727 7
without saying that the w1 of Hxww on the 7awn of yran is also needed to
prove that X1mw doesn’t say PR W5 019N

another possible y17°n

i) Mmoo here is X217 1X? when it says that the w1 s of Sxmw to the mawn teaches
that Sxmw doesn’t say iR 1w 0190 — and at this point in fact moon hasn’t
said how we know whether x1mw agrees with 011 2 or with oo

NX27°D

i) Then — to explain why Sxmw also needs to say the X of wowa 5 —
mooin should have said more simply that Hxww needs to say the xm°n of M2
Dwowa to make clear that % X1°20 &1 11 and that the reason why 1wxa PwKa
73p isn’t that AR WS 0190 but is based on 7o°an

v°n

1) The correct X072 in Moo is the &om3 of ovaw> M»doIN that it’s from 01172 °927
0°IMR 0°non Pax that we derive not only the v w of oonon but also the nww of
oxmw himself that % X720 891 17 — 9% mw then needs to waon — not only for
o non but also for himself — that the 7awn of ynn on 2 %m0 is based on 170°on
and >7x »7x as explained in 'x o1 — and Yxmw further needs to say the X
of owhwa 71> to explain that noon is effective even without *7x »7Ix also as
explained in s P

I'yvTI A"na A" T nivoIn 'X 77N NINYN NINST X'AI0

22 RI7 "2 MINW TV NROD NINR 3977 112 2IMINT TN 2T "0 Paywh A" '
R K7 IWOAT ORI MINRT 1907 9257 WMDY K2O% K117 200 DaR Doy "o w1 T
TWONT RIT TOAYYORY ARD ORM PITT NXP 10N 2T QW NINRR NIDT Shnmb B
NINWR RNIN2T DNAT TWRAT N0 DT BRI MDA RO T 200 KT "D Ny

TP'1TY 90 TPIRYLIDY MR D

1) nwn
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2)

3)

4)

5)

6)

WINT MNWA MO — 1PIX°A2) 1IN0 T2 1911 IR DY 1D IRY 00N
1WA KDY 701 MNwn N 1ok

Xn3
a) npYorn of X121 and A 20

1) X177 27 says if the nro was minw then 137 the same as if the axnx was mnd
mnwn

ii) 770 27 says if the o was mnw then wan &5 the same as if the nno was any
mnwn

b) xwp to X172
i) RN™I2— W°X7 0O QW RAT OIT MDY NI IR MDY DD 17X 1°31°02

i) Now for o»>77 0w all agree that a mnw mww counts as mnwn an° for nipn 72
and w377 8% — so that for 197%°221 1°a1°02 the 17 for ninw should be w377 X the
same as for mnwn a0

c) yren of the & nax for k7 20
i) X727 asks "Poven"
mooin — X2 of what X117 27 means by ayu,

a) °n1°37 X that the xn»92 that compares 1°1%°121 1°11°02 to o°1°77 oW apparently
supports 777 21 — but the xn»92 is 7m0 itself because it also says for 102
1% that Wt mnw 27 R mnw nrvo and this directly supports 8217 29

b) to avoid this 77°no it must be that by comparing 1°1%°»21 1°12°02 to o°1°77 0w the
XN°>12 means that just as for x»w the 7 is fixed in relation to mnw (namely
whether the myv is mnw» MM Or MINW Or MNWH IN1— 1°7%°12 1°In°01 s also
calculated in relation to mnw (unlike for an> 377 2017 37 where the 17 is fixed in
relation to nxo% ¥217) — but the Xn>12 doesn’t compare a nrd of mnw for 1102
1I%°»21 with a myv of a mnw for xmw and in fact for 1°9%°1»21 1002 the 17 is Wwoan
and for xmw the 17 is W XD

Twni of mooin
a) 128w — how does 7737 29 understand the apparent 77°no in the xn»12 itself

b) n2wn — 777 21 reads the kn>>12 as if it used the word "73" — namely the xn>12
teaches that the 17 for 1"7x°121 »11°02 is similar to o°1°>77 0w only for W no
mnw 7w °>mi1 (where the 177 is w7 for both cases) — but the &n>>12 says nothing
for mnw and mnwn any and implies that the 7 for both is w7 X7

X"wAnn

a) The 7% of mnw v obviously isn’t available to X171 27 because then the &n»92
would have implied that for mnw the 7 is wan 8% both for 1 x°»21 1°13°02 and
Xmw as proposed by 777 27

Twni of R"wammn
a) Xwp
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1) Since nmi 21 can explain the Xn>121 as we’ve explained (that the Xn»92
means mnw 7v) why does the nwpn in the X na say that X177 27 asks 7nyu?

b) v

i) The nwpn didn’t realize the 727 of 777> 27 based on mnw 7v and assumed the
Xn»"2 meant o1 nnw

[2'072 DA 2"T 0"awn 2 77N NINwn NINST X'AI0

b22 2"2awnD 22 13''0 By 10 WWONT MDY NIND AR 702 A ' a'awaea
TWWORY 1D WINT MINWR MDA 2'"awnna AT DRI 2nwsT 2vnon
29 2"'Y T "ID WONT MINWR NITD IR RDTONT 0BT 2R 1D SONTY IR
MDY NITDT RNOIM2K TAPD 790D ORM™Y MDDINT 2''7A0 1WNT NN 7Y 12 D% 3T
N7 2" awnDD 77N 2% RWPY 1D NP WONT TTRAYURY "D WINT PO 2w "o
2"y RBR MSOINT 'R NMINW TV WO NINWHA NINDT IPNNINAD N1 RAPIND RN
NI 19073 PPNINMRAY DX NN ROR 700 PARKA KD X122 NN neT 2" awnnb
MDY N7 2" awADaw 2%IWST 2950 B INTY NYNSR 7T PR NN WINT Nnwn
239 1P RNI[2T7 2127 RN NIDDINT W'D PPANINRR T 210 NINW TY YRR onl

SP'1YTY 2OIMTI QIS ST DT AR STID NINWA 7D YRWR 2T 2s

1) xo7 of o"awn in the mawn

a) based on o°1w° 0950 — WONT MW MO

b) Based on %"wAnn NaaT — WhAT MINWR NIND
2) H"wAann as understood by X"wann

a) Nwp to the xo7a of oo1w° o™do

1) The words w1 mnw Mo mean that 13737 if there’s a nrd of mnw — how can
777 21 say that for mnw XX the 17 is w7 RS

i) And it can’t be that 7737 27 understands w7 Mnw NINo to mean MW 7Y N
a1 — because if so the & na should have realized that (as explained by noin
in 'R pom) that the mnw n*o in the &n>12 of o177 0w also means Mnw v nd
with the result that the &2mx ought not to have asked 7>nyv? to 777 20

b) It follows that

i) the correct xonx of 2"awn in the mawn is "y mnwa mno" which means that
Wt if there’s a nio that’s less than a mnw — it results that the miawn doesn’t
deal with a nno of mnw and 7797° 27 can say the 17 is 1w &% — while the
Xn»12 that says mnw nrd (without a 0"») does deal with 51 minw and
because the xn»92 says 13721 there’s a X°wp of Pnyv? to o7 21

3) X"wann

a) The xo7 of ovaw» 0°190 is correct because 1717 27 in fact reads mnw mnod in the
TIwn as meaning Mnw 7Y Nid
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b) And yet the x>wp of 7nvu still exists because the X3 holds that 7717° 21 doesn’t
read the Xn»92 as meaning mnw 7v because the Xn>12 compares 1x°21 11102 to
o° 1 7 oW and 20177 0w is measured by minw

P q7T
N a1 0" avwn

5'"o¥ "2 NIEY 'Y N KPR 19 IRTT PRS0 DR 772 [2 Ty W 7]
2N HUIT RDIT W'D NS DWIT ROT RIVT 7T 24 w0 npd w''s BT p''e
-]

X vl 2"

B=33 19905 OB RAMWD 12 RNDN 92 177 127 19 AR PRI 7''72 '0IN
RO 91997 11D RNDN 92 S177 T2 10 WNDY 1R 7 Ppn By "1
1H'"PY 'oIna Y ApD W'D NIt TIRDNT

TR T
"7 XppOOn 'oX 211 N TN

NIINR2 ROW IN AT NPMR NITIPDD OR O0 RPDOR 0K 27 1772 [R 7Y 3P 0T)
NEPR2 0IDND 537 RT ONTINAR 327 2" wBw 71 90D »''RhT IRDD B''oy "1
K% "2 NN NITIPDD OR RPOOM 1INT OR RNWTT ONT 90 "0 nXpnaal 0N 0 9o
292 NXPRA 20 K172 A"AT I TP PRT 21 290 KYT X120 NIpRa AR W' mn
NNWT RIT7 292 NXPR2 9207 N2 RIMAR X200 757 77077 23 9 A8 PRIAWD nxpnay
SOR 299 1172 IPI90D YXNT RI2T T2 0P D PRI 1NIT 290 NIPR2 A1 1207
T TVIOR KD RDWIT "D NPIMRD NITIPYD OR D RPDORT MMD 10 RO DL
"SDB 77T T2 PIRDD XM RY 1T PRI IR N1 VR 2797 RI2D T2 30HDT nb
937 IR 77O RPDDIAT RPN 107 PR INTY M1 90K 299 RAINT RO KD 0 01paw N

T'mY K120 772 297 7790 0K 29 MDDT RN20 PR W 2IDDT KD IN T2 PDo

1) X

a) 727 and Pynw are o°nx wWho were 0°021 w9 and the 27 Hva of their v was
later 721 the pom of 12180

b) 27 says that the npYom is Pva and nwaw needs to give ¥ of his pon to 12187 because
27 holds that 177 1wy P90 1R — DR says I and 287 is T°0on  because
oX1mw holds that n7 N1PAR2 XYW [RIP1 17 MNP 1P20W X — °OKR 27 says Hun”
"Myna ¥°271 vpapa v°a because "ox 21 is po1on whether worw v are pwAr or
mmp»

2) Tx0a of the ww of "ok 27 as explained in Ak 27 5"n based in part on 2"aw"
a) First now
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1) 7wnw gives 121%1 a ¥°27 either in ypap or myn

i) The poo of ox 21 is whether they’re Pw and 1w needs to give half of his
P21 to 121X per 27 or they’re NInR2 XYW MMp2 per “Rmw — and since 1mn
TP Pooa Suan it follows that nwaw need pay only a ¥°21 of his pon

iii) now 27 himself holds that nw»w can’t be *nra p%on but *ox 27 holds that even if
27 is correct that 27wy still contrary to 21 the Pnx can be "mira poon

b) 1w w1s on the vw of "ok 21
1) Mynw gives j21R1 a ¥papa ¥°27 and a myna 3020

i) The poo of *ox 27 is whether per 27 they’re w1 and nwaw needs to give half
of his p%n to 32387 for which there can be no "2 719°0 — or whether nvaw
needs to give half of his p%n to 12387 because w-*w Pnx count as mmip?
nranka (unlike Sxvaw who says they count as n1»anxa X5w mmp?) for which
there can be 112 p17°0

3) o"awn — Xwp to W vrrd

a) °ox 21 for “w wrs follows neither the nvw of 21 nor the nw>w of HRwaw and this
goes against a 22> that where a third X1y is p210n on whether the 71257 follows
one of two earlier o>x"nx the third 7K agrees nxpna with the first X7k and
nxpna with the second X1nx

4) moon

a) Must be that »xw 1wb is correct — because for the first nw> of o"awn there is the
following xwp

b) xwp

i) the x7m3 could have achieved the same result (that 121%1 pays only a ¥°27in
ypp or myn) with the following 7277 — ox 21 agrees with Hxmw that i
Www are mmp? but is po10n whether Px1aw is correct that n1Panx2 Xow mmphs
17 (in which case 12187 is 20 and is 7°097) or 7 Nanx2 Mmp22 (in which
case 1wnw is 7091 and needs to pay °xn either ypapa or by 112 ,1%°0) and
because 1°p71m pooa Svvan 1 it follows that nwaw pays only 3227 and can be
phon this myna y1n

5) X"wann
a) Nwp

i) Why doesn’t mooIn answer that in fact the first mv>w is correct and the reason
the xmx doesn’t follow the T2nn of the x>wp of mooin is that *ox 27 in this 777
doesn’t say even 212 n¥pn

b) v n

i) Although the 7771 of the xwp of mnown would be based entirely on xmnw and
wouldn’t be based at all on 21 — the actual 7>7 follows 21 to the extent
payment is made for ¥>27 and the 17 follows Xmw (who says Xow np19
M7 N1MINRA) to the extent that payment isn’t made for the other ¥°29
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i) And this ought to be enough for us to consider that *ox 27 counts as 212 n¥pn

even though >ox 27 (unlike 21) holds that nw»w can be *mra poon — after all
even for the first 7v°w where *oX 27 is po10n Whether 117 1w WY PR per 27
or 21 mmpY per Sxmw still *ox 27 holds that if 21 is correct that 177 Pwar still
(unlike 21) the 17 is that nvnw can be nra phon

c) Twnaof X"waan

i)

in fact it’s preferable to follow the 9%nn of the x*wp of mooin where the poo is
whether "n7 n1PnR2 MMPY2 or "nT NPINR X722 Mmp?o — because for this 79an
it’s not necessary to say for the 7% of the oo that the 773%7 is 293 that *ox 21 is
still P with 27 and holds that 12 p%0% "xn

this preference also explains why for »1w w175 the 8713 doesn’t say that "ox 27
follows 21 that 271w (and that’s why waw needs to pay a full *xr) — but is
P2ma with 27 and holds it’s a poo whether 1ra p%0% *¥n and that’s why nwaw
can be p%on only 21 (half of his >xn) "ma

TP q71
'mon n"Tn

2wNY T2 B oY TN 22T 2INMDT 2IWT "2 RPT n0n 172 [2 TRy 1P 0T
ATOR RYANR RIT 7T2T7R TODY 1D 772 INRP N NIOR VIR ONYTIR PIOR K97 IRRDT
[T WO '2Y W IRD RPN N7 RAIRT DU MWIMWWS2 TD RY ORBR 10 XMW
105N PV RP 77IR MARPT AN ITORPD RNDN 09902 YU 2WHW NARPT ORI T 77
ORTT IDID PN RPT ORNOR 720 KON DY WY RAWT RNT 972 7OIARD XNONY
TARPT INTY T N7 WP AW 1D K01 RDT RIPOAT D 2N M1 22N IRNanR
RI7 39721 "IARD XNPNY 090N YW 'S MRPT N 7ORRD RGN 00N Y I
97219 TR KD RN N271R NIADITT J1957 12 INNDM D20 RPN DV WINAD RIT OYANT

1) X

'Y NN 797 T2 200 §''2n0 SwITInaY o

a) If 120 and nwnw and % are o°1>7 on a ’kmw of om0’ *0o1 and their X is as in

the following table

(11°720) 80 j=iha)
(17.25) 100 R
(117 30) 120 "

b) o»anx hold that y0ra pwown — namely the 40 difference between 32187 and 17 is

divided by three to yield 13-1/3 — this amount is considered the amount on which
WK b — we therefore assume that the correct value is 93-1/3 or 13-1/3 more
than the 80 of the lowest xmw — and that w»w intended to overestimate by 13-1/3
to say 106-2/3 but said 100 because he thought that ">non to say 20 more than
TR

WP
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2)

3)

1) Say instead that the correct value is 113-1/3 — ny»w who said 100
underestimated by 13-1/3 — and »2 who said 120 intended to overestimate by
13-1/3 to say 126-2/3 but said 120 because he thought >non to say 20 more
than the xmw of nwnw

d) y»mn

i) We prefer to say the correct value is 93-1/3 instead of 113-1/3 because if it’s
worth the larger amount it’s certainly worth the smaller amount and nosn
nosn X7 721

nmooIN
a) 7oRw
1) How does nwnw know what 12187 will say
b) nawn
1) The o°r>7 announce their x»w starting with the lowest xmw first
X"wn
a) This 7971 also resolves the following two nvwp
b) First xwp

i) Before the x7n3 said that nosn X7 721791 noon and the x na asked that maybe
the correct X is 113-1/3 — why didn’t the X773 more simply propose that the
correct value is 106-2/3 — 1% spoke first and was n3w by 13-1/3 to say 120 —
and nwnaw wanted to say 93-1/3 which is 13-1/3 less than the correct xmw but
having heard % say 120 nvnw thought that »>non to be 20 less than 17

c) Second xwp

i) Even after the x 3 said that noon X% 7217 noon why don’t the & 13 say that
the correct value is 86-2/3 — 1wnw overestimated by 13-1/3 and said 100 —
12381 underestimated by 13-1/3 and wanted to say 73-1/3 but thought »*non to
say 20 less than nvnw

*k*k

715 "2 1oV 1170
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